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PART A

1. (a) Draw the budget line for the following cases.

(i) A grocery shop starts a scheme in which,
for and then for The price of good is

constant at Rs.3. Consumer Income is.

(ii) If the consumer buys more than one unit
of the first good, he gets one unit of second
good free.

(iii) The Government subsidizes gasoline
purchase by paying half the cost of each
litre purchased in excess of 20 litres per



month. Identify on the diagram for a given
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amount of gasoline consumption, how much
consumer spends on gasoline and how much
the {3+343)

(b) Answer the following questions :

() Maya thinks margarine is just as good as
butter. Margarine is sold in 100 grams
package and butter in 200 grams package.
Draw Maya’s indifference curve for
packages of margarine and butter and give
her utility function.

(i) Meera likes sugar in her tea, but she simply
cannot differentiate between quantities of
sugar which differ by one gram or less.
Explain why her preferences violate

transitivity,

(iif) Find whether is a monotonic transformation
of

Take x (2+242)
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2. (a) Which of the following utility functions has a global

satiation point? Which of them represent convex

preferences? Support your answer with a diagram.

* (3+2)

(b) Consider a consumer with the utility function where

X and y are two commodities.
(1) Plot his indifference curves
(i1)) Are his preferences convex?

(iii) Will he spend his entire income on x and
y? (1+2+2)

(c) Draw the Income-consumption curve and find and
draw the Engel curve of good for the following
utility functions. (Assume that = P_x=1 and P_y=2)

(3+2)
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(7 & & P_x=1 3k P_y=2)

3. (a) Consider the utility function. Initially the prices of
commodities x and y were and money income 18
Rs. 100. The price of declines to 2.5, the price of
is unchanged. Decompose the price effect into
Slutsky substitution and income effect. Further
decompose the price effect into Hicksian

substitution and income effect. (10)

(b) Analyse the effect of a decrease in inflation, other
things remaining constant, on a lender’s choice of
current consumption and savings. Is this effect
the same as that of increase in the nominal interest
rate? (Assume that both current and future

consumption are normal goods.) (5)



4471

7

(37) SRR Wt W AR | wRe ¥ aga x sk y

4. (&)

@l wE R, SR s 100 T ¥ & N "o
25 B W 2, I G sRarT w2 e
T R s wWE W qwm wwe @ fufd
H | I R ufoeaT sk s wme w5 el
K |

R UG W FOHH @O 3R Sud @ TEE W
i § 9, 370 T fR T & waE @ R
F | qE T A A R A gy D w27
(7 o fF a3 s = woe 2R wer TR
g1)

A consumer who consumes three goods was
observed in three different choice situations. The
prices faced by her, and the bundles chosen by

her are given in the table below:

Situation

I 1 2 3 2 1 3
Ti 1 1 3 | 1 3
111 | 1 4 2 2 4

Check if this price and consumption data is
consistent with WARP and SARP. (5)

P.T.0.



(b) Suppose Aman has an initial wealth of Rs.200 and
has the utility function U(W)= VW, where W>0
denotes his wealth, Assume that he faces a 10
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percent chance of losing his wealth because of an
adverse event, where he would lose Rs.50. He
considers purchasing insurance to protect against
his potential loss. He can buy ‘a’ unit of insurance
for Re 0.10 per unit, which pays Re 1 per unit
that i1s purchased.

(1) What is Aman’s expected utility from
buying units of insurance?

(i) How many units of insurance, does Aman
purchase?

(iii) Suppose a consumer’s consumption in the
good state and in the bad state are perfect
complements and perfect substitutes. For
each of these cases, draw the indifference
curve for the consumer and discuss their
degree of risk aversion. (2+3-£5)

(37) T ITHET off O aegsl @ SUHNT ERer B, 39 A
FTT - 3o gHe Fufaal & I | 39 g 9
T W AR Fd, R IEh S YA Y SS A 6
e Tferer ¥ R o R
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Situation

[
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PART B

5. (a) (i) The production function for a firm in the

business of software development is given by
q =4 (k)"

where q denotes software development and
k denotes unit of capital employed. The firm
is a price taker for software (which sell for
P) and for the capital input, the rental rate is

r.

(a) What is the total cost function of this

firm?
(b) What is the profit function of this firm?

(c) What is the supply function for software
output q(p,r)? (2242}



(ii) Derive and draw the graph of output
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expansion path for a firm having production
function Q = K + (1+L)'?; prices of L per
unit and K per unit being 40 and 240
respectively. (3)

(b) (i) Is the short run cost also the minimal cost

for producing varied output level? Explain.

(3)

(i) Compute elasticity of substitution for the

following :
(a) 0 = f(k,l) = (sz 4 U.fz)z
(b) Q = f(k,]) = min {3k,51} (3)

(1) (i) Fedm o™ & =Edd ¥ UE @ o

e wem q = 4(k)"

fear W 27 WEl q AvRead e el e
2 3k k A o @ =R @ FEE T
¥ diweim & fe g wwd o aen 8 (ST
p & forg Fmer 2) 3R goN Te & o, R
H W IR T
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o
(@) Q= fk,]) = (k2 + 1172y2

(b) Q = f(k,]) = min 1ok:51)

6. (a) A firm has production function:

=F (K, Ly = RV 41 12 (where L and K are
measures of labor and capital input used to produce
q units of the good that are sold at fixed price p
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per unit of the good. Costs per unit of (L, K) are
(w,v).

(i) Compute elasticity of substitution.

(i) Does this production function exhibit IRS,
DRS, or CRS?

(iii) Find firm’s unconditional demand functions

for labour and capital.

(iv) Find firm’s supply function. (2+1+3+2)

(b) (i) In the 2 input case, where both inputs (capital
and labour) are normal, discuss the total effect

of rise in price of labour. (3)

(ii) If long run cost function is C*(w,v,q) = 2q*w"

v”%, compute the production function. (4)

() wF wE @ IERT we q=F(K, L) =K"2+L"2 %
(St L 3R K =/ 3K 9ot 399 & 3@ & Wi HiE=e
® ¥ U T el GRS @ q TS o Iede
T & oo Iy fey o 2 awg @ @R p ui
T 71 (L, K) ot e g e (w,v) B

0



(i) vl < d=r 2 quEr =5
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(i) =1 78 I wer IRS, DRS, a1 CRS Weffa
el g7
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7. (a) A firm has production function- qg=F(Lk)=1 +4k
(where | and k are measures of labor and capital
inputs to produce q unit of the good that are sold
at fixed price p per unit of the good. Cost of (1,k)
are (w,v). Compute the following :

(a) Firm’s conditional demand functions for
labour and capital.

(b) Profit function. (4+2)
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(b) (i) Discuss the properties of profit function. \
(3) |
(ii) Compute contingent demand for inputs (both

capital and labor) using Shephard’s Lemma |

for the following cost functions :

(a) C(V,W,’Q) - quy (Vl—ﬁ-tvwl—ﬂ)”!—j} |

Explain what happens to this function if |

=L |

(b) C(V,W,q) = B q]-"la+h} 1IW,.a."{a+'|;;} Wb-“l:a+b}
where a=1/4, b=3/4, B=3  (4+2)

(37) ww W @ Iaed wem q = F(Lk) = 1+4k g, (W&l
| 3R k, Pifde w99 p 9 gfie W S S Al a9
H o TS F IAET wA D Y SR R IO T
& 3 ¥ W (Lk) 9w (w,v) ® | e
St T wY

(%) s@ 3k oo @ fore WA w wE A wHer |
(@) @ e |
(@) (i) @™ wem B IO R T R

(i) Frafifea s F@ & g 9w o=
B.LE.E
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(a) C(v,w,q) = qly (Vl-ﬂ.f-wl-ﬁ)h’l—ﬂ
QT 59 ST 5w B 2 i)

(b) C(v,w,q) = B ql/(a+b) yalfa+b) o bl(a+b)

WE a=1/4, b=3/4, B=3

(4,000)
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